Pyds \-5 ,py-de 15~

:D'Pﬂ:('ﬂ ”h'(or Ma*'\br\,‘('ac" s, 6r Nl{ mber s
+hat deScribe So meth \'\_’j

@ Tab - S, Ba«r G-r-aPL\S/ Line C—raP"\S
D False DTrve Q) Rilse
P:[ 7

® 19971 1996 @ 89-25 @ (99

<1 8-) Population of California

g—
0 QQ) Fuel Efficiency of Passenger Cars
%]
=
£ 1200 )4243 3
2 1000 5 0 | .-__l_x}
= - & g "
< 6 5 P
= -1}
2 4 T
8 v 8 g
_E 200 ﬁ"’ =
a 0 ;
1850 1860 1870 1880 1890 1980 1985 1980 1995 2000
Year Year




Pj& 4> Q3 ~QAT(a) :12>-23(0), 35-Y3(e)

Se lutia
@ein, agin D™

A . Lo gdlu‘f;br\
& ZQumfs)L/&m,ts 3 So[v-h‘bh

& 2 NoT o
S) SEt , BY{1 0t B

®4@¢@ NP
@:@4@> @>@:



1.8 FuncFions Sept. 29, 2006

—Fv rd‘{bt—\'. arole +hat establishes
o e (a*{ongh‘ o) be,‘f'\zue;e Y\
two - Wo g Uan‘t\{fs

le: LﬂPU+¢Ou+IOU+

T(’\\Y\ K PQP M mc




ex | Trpvt—OtpuvT Table
®

1 dot

_ ¢ o
hrj.i .ﬁ.%)

Fig. 2

Rolots bdsts

LapuC

1

=2 %

OuTPUt

1

3

b)) 3

4

\

\

B
S
9(

$

\




ﬁﬁ\_& @O\](OO";D
—We are at AzO {¢ . ‘
—US(n "")'\e buFV\C/“ we U, l\

Fisc Q0L per eanh vin.
~ Show cach Mi NS altitude
for The newt S nyn.

N = height o€ the badbon
t = time o€ Flhe );)Urn(r\

AOC +350
h=20/0) 350  [N=Q58

O
=1 h=2000050  \=27

T=2  Ih220(Dta10 N5
t=3 hl&omum =31
- L
=Y h=20(9)+ac) h 33y
t=¢ Iz Ro(g§+avo h =35y



-Doma (\_Tl/\@ Co | lection of

Al :nme Valves
Fé“"es/Tp’V\Q
"Q@«MQ

‘ \/\6 Col €C+(or\ BR
A” Oviprt Vo lyes
FR IS Al ook




Camf)/efe +he Tubk i§ the Domain
8 0,0,2,59

-Cor' + he .Q(/,\( ‘é,'p,\ }\:41501‘20((‘)
Lnpovt [OutpeT
% SEIZ
' 270
D 1240
2 20
4 ~ 30




@Pj 51.—-53 ¢ (a),7-11(0),

;23 ;2'725’,&“1
% Dfavv 6m;0A5 w hen
Aske A to aswell g5
O""\/ Tables

kR C YOU NeecAd TO gins.




	Page 1: Sept 21 - 9:27 AM
	Page 2: Sept 21 - 9:27 AM
	Page 3: Sept 21 - 9:28 AM
	Page 4: Sept 21 - 9:28 AM
	Page 5: Sept 21 - 9:28 AM
	Page 6: Sept 21 - 9:28 AM
	Page 7: Sept 21 - 9:28 AM
	Page 8: Sept 21 - 9:28 AM

